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4, T F. 6 T 23 TF TAF T § Aafh fashes Rarmar g |

Instructions:

1. All the questions are compulsory.

2. Marks allotted for the questions are mentioned against them.

3. Questions from 1 to 5 are objective type questions.

4. Internal choices have been provided for the questions from 6 to 23.

1. ud Reerafg: 1X6=6
(). HEATAT 4 3T 9 T WgqH THTIAA S (HCF) ZRIT :
(a) 1 (b) 0 (c) 36 (d) 13
(ii). =fe et B agu8 ax® +bx+c & LAF o 30T S 31, T o+ B FT AT T :
(a). 2 ©.2 (-2 (@). -2
a C a C
(iii). ¥ g g ax+by+c, =0 FAT a,x+b,y+c, =0 F FHL A T & 6l
a2
@) Ll o b e
a2 bZ aZ bZ C2
@L=b_a (d) 5t & 8 7|
a2 b2 C2
(iv). AP:4,2,0,-2 H9Ea¥g:
(a) 2 (b) -2 (c) O (d) 4

(v). Bl Bt AABC & DE|BC €| AD=x, DB=(x-2), AE = (x+2) T4T
EC=(x—1) @ x T 919 gNI:
(@) 5 (b) 4 (c)3 (d) 2
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(vi). et A(x,, y, )3T B(x,, y, &1 frema el Y % qea-faeg & Mdori g

(a). X +x, yt+), (b) X=X, W+,
2 72 2 72

(C). x1+x2 yl_yZ (d) xl_xz yl_yZ
2 72 2 72

Choose the correct option:
(i). Highest Common Factor (HCF) of the numbers 4 and 9 is:
(a) 1 (b) 0 (c) 36 (d) 13
(ii). If aand g are the zeros of the quadratic polynomial ax* + bx + ¢, then the value

of a+ p is:
(@ ° (b) (0 -2 (@ -2
a C a C

(iii). The condition that the pair of linear equations a,x+b,y+c, =0 and

a,x+b,y+c, =0 has no solution is:

al bl al bl cl

(8) —-#* (b) —-=—t#—"
a2 b2 a2 b2 C2
al bl Cl

(c) —=—=— (d) none of these.
az bz C2

(iv).The common difference inthe A.P.: 4,2,0,-2 is:
(a) 2 (b) -2 (c) 0 (d) 4

(v). Inatriangle AABC , DE|BC .If AD=x, DB =(x-2), AE =(x+2) and
EC =(x—-1) then the value of x is:
(@) 5 (b) 4 (c) 3 (d) 2
(vi). Coordinates of the midpoint of the line segment joining the points A(xl, Y )and

B(xz, yz) are:

(a). (’xl + X, ,y1 +y2j (b). (’xl — X ,y1 +y2j
2 2 2 2
X +XxX, V=Y X=X =0
. d).
I
o v i 1X7=7
(). 95T = ... X TRTHA + STTH |

(ii). =T 2T % TRt agae & Afawhad ......... T gl T 3 |

(iii). =T 6T ax’ + by +c=0F AAFacF T D= .......... |

(iv). FETAT 990 @, a+d ,a+2d,a+3d , ... FTn ATTG ... 2T |
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(v). o Tt SrRfaat (S ST T gid § 93w S d19 J9T9 g a9 F el &,
e -y

Fill in the blanks:

(i). Dividend = .......... X Quotient + Remainder .

(ii). A polynomial of degree two can have maximum .......... zeros.
(iii). The formula for the discriminant of the quadratic equation

ax’ +bx+c=0is D=..........

(v). All those figures which have the same shape but not necessarily the same size,

arecalled ............. figures.

(vi). The point (4 , O)Iies OoN ..oovvnnee axis.

(vii). A secant line of a circle intersects the circle at ............. points.

el STET STy | 1x6=6

T — (1) s — (1)

(i). cosec’d—1 (a). !
cosd

(ii). secd (b). 3

(iii). 1—cos’@ (c). siné

(iv). cot30° (c). 2

(V). cos(90-0) (d). sin’ @

(vi). cos48’ cosecd2’ +sin48° sec42’ (e). cot’ @

Match the column:

Column - (1) Column — (Il)

(i). cosec’d—1 (a). !
cosd

(ii). secd (b). 3

(iii). 1—cos’@ (c). siné

(iv). cot30° (c). 2

(V). cos(90-6) (d). sin’ @

(vi). cos48’ cosecd2’ +sin48’ sec42’ (e). cot’ @



4, UF 95 /919 ¥ S AT 1X7=7

(i). e T == & sgug P(x) & o, y = P(x) T 9T fRAm g |
P(x) % I T HEAT TqATC |

y- o

= PFx) 'y

'[ y = P(x)
+ l * X- T
L J

(ii). =7 = § e gHiHor w7 79 9 forfey |

(iii). Toreft fererma st & fafarans &1 9190 ST § T =60 AT 0l THid el
ghft ?

(iv). IO T IS T G I |

(V). &7F o SIae &7 g e |

(vi). 3,3, 4,5, 5% qHTGL AT FAT T ?

(vii). ToRET fRTSra =reaT it JTiaehar &1 919 foha«T grm?

Answer in one word / sentence:
(i). In the given figure, for the polynomial P(x) , the graph of y = P(x)is given. Find
the number of zeroes of P(x) .

Yy — axis

w=P) &

(ii). Write the standard form of the linear equation in two variables.

(iii). If the value of the discriminant of a quadratic equation is zero, then what will be
the nature of its roots?

iv). Write the formula for the circumference of the circle.

v). Write the formula for the volume of the cone.

vi). What will be the arithmetic mean of 3, 3,4, 5,5 ?

vii). What is the value of the probability of a certain event?
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5. a7 / s forfeT 1X6=6

(i). I gATHT qUITE a ¥ b 70 g 9¢ THT srfgdig qur seare
qﬁTrﬁ"ﬂ'ﬂW%’% a=bg+r,0<r<b %|

(ii). T FT ATHRA = 27> BIAT g, Tt 7 Id 6T BT g |

(iii). I T AFYOT 98 = 27 AT &, STl 7 el ol BsaT & |

(iv). WTET, TgeTh U WIET & Heq Hag 2: 2 HILAF = agelh +3 HI.

(v). Toreft 37 T o &7eT Y@Tu g1 Jehdi g |

(vi). Ffe FoReft =reaT &t aTEesar P gar 0< P<I.

Write True / False:

(). Given two positive integers a and b, there exist unique integers gand r
satisfying a=bg+r ,0<r<b .

(ii). Area of the circle is = 27, where r is the radius of the circle.

(iii). Total surface area of the sphere is =2° , wherer is the radius of the sphere.

(iv). The relationship between median, mode and mean is:
2 median = mode + 3 mean.

(v). There can be infinite number of tangents to a circle.

(vi). If the probability of an eventis P then 0 < P<1.

6. U 3T AT & 9T 420 FTS T FAT 3T 130 STETH &l STHaT ¢ | a8 ST 2
UHT TRt a9 ATt 8 o T @l | afthAt i §edr 99 g 9T T Rt
THT AT T | ATH TATH AL | TH FIH & (10, TAF 240 | fohat afhal wat
STT T T 8 2
A sweet seller has 420 kaju barfis and 130 badam barfis. She wants to stack
them in such a way that each stack has the same number, and they take up the
least area of the tray. What is the number of barfis that can be placed in each stack
for this purpose?

9T/ or
TS o ST gqTcH® 90 qUITE 2g % &9 FT gIdl g q9T T geaTcdeh (auq

U 2¢ + 1% &9 &1 21AT &, @l ¢ FHls qUNIF & |

Show that every positive even integer is of the form 24, and that every positive odd

integer is of the form 24 +1, where ¢is some integer.
7. f3eTd gaT x° + 5x+6 F FIF AT 7| 2

Find the zeros of the quadratic polynomial x> +5x+6



AI4T/ or
Ue fEETT AgE AT FISrT e i & TR 3 [Usa F79T: 5 3T 2 3 |
Find a quadratic polynomial whose sum and product of zeroes are 5 and 2
respectively.
8. A P.FYIH AR UL MifEu Safh Yo 9 ¢ =5, A@sar d =5 5 |
Write the first four terms of the A.P. whose first term is a =5 and common

difference is d =-5.

AIAT / or

9. 10 m == UF HEY U A 9% e 9w i & 8 m i FATE e o v fagdy
T Tgadl & | AT 6 ML § el & Hact (#9264 A1 oI |

A 10 m long ladder resting on a wall reaches a window at a height of 8 m above the

ground. Find the distance of the lower end of the ladder from the base of the wall.

AY4GT / or

aFd ® DE|| BCg| ADsma HieT |
A

) . 1.8 cm
Ichy,»' '-'""ﬂE
B \54 em
(
In the figure DE|| BC. Find AD.
A
: '“JE{"J'NﬁJ \ 1.8 em
lchy,»' .-'“"EE
L l"'.5.4 cm
(
10. k& %1\ sa Ko, 7fe &g 4(2,3), B(4,k) =T C(6,—3) @Et g | 2
Find the value of £ if the points A(2,3), B(4,k)and C(6,—3)are collinear.
AJAT/ or



11.

12.

13.

x ¥ y ® UF GGG AT HoQ arfes (65 (x, y), =Tegelt (7, 1) &i¥ (3, 5)
q HAET T |

Find the relation between x and y so that the point (x, y) is equidistant from the

points (7, 1) 3T (3, 5).

Tfz 63 4(6,1), B8, 2),C(9, 4)FTD(p, 3) TH TAIAL AT & T =&t 77 & 2
gf, a1 p T AT AT ST |
If the points 4(6,1), B(8,2),C(9, 4)and D(p, 3) are the vertices of a parallelogram,
taken in order, find the value of p.

4T/ or
&g (-4, 6) Ta7g3 A(—6,10) 3T B(3,—8) &l A ATl TATEE [ [ohel AT | fasariora
FLATE ?
In what ratio does the point (-4, 6) divides the line segment joining the points

A(-6,10)and B(3,-8).
cot85’ +cos75" T 0° =T 45" F = % Frort & ot st F 97t § A<F

T | 2
Express cot85° +cos75° in terms of trigonometric ratios of angles between

0° and 45°.

4T Jor
7T sec44 =cosec(A—20") , gt 44 TF AR &, T A T AT AT HI1o(T |

If sec44=cosec(A—20") , where 44 is an acute angle, then find the value of 4.

59T 4 cm T UF 9 % BoTEE F T GFEA 79 HiterT |, e wror 30° 2 | 2
Find the area of a sector of a circle with radius 4 cm if angle of the sector is 30° .
Aq4T1/ or
AT § BTATThT &3 T &= ATq o0, TfE ABCD HSIT 14 cm FT TH a1 g 9T
APD 3T BPC a7 78494 % |
A B

A




14.

15.

Find the area of the shaded region in figure, if ABCD is a square of side 14 cm and
APD and BPC are semicircles.

A B

A

D C

U oo § 5 T 9, 8 WhE F9 AT 4 L F £ | 2H fReA § ¥ wF FHA7 Arg=aAT 2
ARt SITaT & | TRt A arieRaT & & =g = g A 82
A box contains 5 red marbles, 8 white marbles and 4 green marbles. One marble is
drawn at random from this box. What is the probability that the marble is not green?
4T/ or

AT SSTT g8 Ueh ITH T U a1 Bhd g | (i) 4 F TST HCAT TTH g il Tl #4787
(ii) 4 = FIET AT ITh I HEAT TTH Bl TTAHAT FAT G ?

Suppose we throw a die once. (i) What is the probability of getting a number

greater than 47 (ii) What is the probability of getting a number less than or equal to 47?
U = I A T ATRRAT AT e, Ste U g T U 91 IRTAr Jrav g | 2
AT BT, TF T ITH FA T S TTRar sra hiorg|
Find the probability of getting a head when a coin is tossed once. Also, find the
probability of getting a tail.

AI4T/ or

21 fRrerET ST s Torar =fRe %71 UF 89 gord g | 98 F7a @ fF S far g A

St T ITRsRAT 0.62 8 | LT o S st a7 ITHhar g ?

Two players Sangeeta and Reshma play a match of tennis. It is known that the

probability of Sangeeta winning the match is 0.62. What is the probability that
Reshma will win?




16.  HHIHLW 6x°> —x —2 =0 T A DT | 3
Solve the equation 6x° —x—-2=0 .

II4T / or
oo T (x—2)+ 6 =0 & k T UHT AT 19 hitorg o gt
I IAL A gl |

Find the value of & so that the quadratic equation kx(x —2)+ 6 = 0 has two equal roots.

17. T St ATelt fopaet &AT0 5 | faemsT g2 3
How many two digit numbers are divisible by 5?
4T / or
it 7,13, 19, ......... , 205 ® gaT T Tear s Fie |
Find the number of terms in the series 7, 13, 19, ......... , 205.
. PS PT
18. w@%ﬁ@=ﬁgmﬂ ZPST = ZPRQ ¥ | org fIfvrw & APOR T 3
SRIECLAER RS
P
51 T
Q! R

In figure % = %and ZPST = ZPRQ . Prove that APQR is an isosceles triangle.

JAI4T/ or



Tf% < TGT U A4BC FT S[STH 4B T AC FFAM: D T E 9¥ qfa=eg ¥
AT ST BC % qoa g7, a1 forg fiforw & i—?:% 2T |
5

N

If a line intersects sides 4B and AC of a AABCat D and Erespectively and is

parallel to BC, prove that AD = A—E.
AB AC
A

19. g o &, ga et fovg 72 #7997 Y@r =997 f&vg & 19 aret Pearw dq gt g |7 3
Prove that, "The tangent at any point on a circle is perpendicular to the radius
through the point of contact.”

A949T / or

T g A &, ST U I F % & 5 om g % &, 9 O et v A owars 4 cm £ |
EnEIREr I I

From a point, which is at a distance of 5 cm from the center of a circle, the length of

the tangent to the circle is 4 cm. Find the radius of the circle.

20. Yfa® g T 4
2x+3y =4
x+2y=3
Fr gfaeras & & g it |

10



21.

22.

Solve the pair of linear equations

2x+3y =4
x+2y=3
by substitution method.
ATAT/ or
p & T w3 forw e aefisneont & o9 o1 U sifgdi get &

4x+ py+8=0
div 2x+2y+2=0
For what value of p the pair of linear equations has a unique solution:
4x+ py+8=0
and 2x+2y+2=0
7.6 cm W& UF T@MEUE G0 T 30 5:8 SquTa # AT St | 4
FAT AT I AT |

Draw a line segment 7.6 cm long and divide it in the ratio 5:8. Measure both parts.

IJ4T / or
4cm, 5 cm3iT 6 cm ST ATel T (ST sl TAAT iTorT e e T8 a7&T U

\u . . 2 .
e Fraget Y Tt RS, Srerehy et fRu gu Bt # s syt i 3 THT 3T |
Construct a triangle of sides 4cm, 5cm and 6cm and then another triangle similar to it,

2
whose sides are E of the corresponding sides of the given triangle.

21 =T, T & v #7 I 64 cm’ g, % TAT BeAR | T THEATRL U SIE 1T

STTAT 8 | S8 YT 9979 FT TSI &5% AT Ao | 4
A solid is formed by joining the adjacent faces of two cubes, each of volume 64 cm”.
Find the surface area of the cuboid obtained from it.

dqeT/ or
A AT Aol ST & S8 24 om 1T AT 4T 6 om JTeAT Teh 9 a7 I37 2
TS I 3H T % AR H GG (@7 | Tt 6t s s i |

A cone of height 24 cm and base radius 6 cm is made from the model making clay.

A child turned it into the shape of a sphere. Find the radius of the sphere.

11



23. Twferfed geoft 35 AT it arerdr 2¢ (qfaerd #) il g | 4

TTETLAT &<
(%ﬁ) 45 - 55 55-65 65-75 75-85 85-95
. il 3 10 11 8 3
AT

HqTET FTATAT T ATT HITT |

The following table gives the literacy rate (in percentage) of 35 cities. Find the mean

literacy rate.

Literacy
45 -55 55 - 65 65-75 75 -85 85-95
rate (in % )

Number of

cities

AT4T/ or
=Tt & U 99g g0 U Higed & 20 TETT 9¥ {0 T q9eq07 o TROTHETST
e afiai & geeai & gear ¥ gafeq Aatatag dAFe 919 g
ElECIE k] 1-3 3-5 5-7 7-9 9- 11
Ay &t
qeqT
T ATHES] T AgAT AT DT |
A survey conducted on 20 households in a locality by a group of students resulted in

7 8 2 2 1

the following frequency table for the number of family members in a household:
Family size 1-3 3-5 5-7 7-9 9-11

Number of

7 8 2 2 1

families

Find the mode of this data.

*kkk
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